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Please answer all the quéstions on thig paper:

50 /% | S
@erte the words for these definitions. : -
8) A ocompiny or Dberson who is the first to do something: X .
b) Companies that are first 1o bring a product to market: _ ' .

c) A process where weaker companies leave market: ag growth begins to slow down:

d Th-e ghin from having a product on the marlket before your competitors do:
@) The introdh?’on of new ideas and niethods:
B A comipany that qntérs a merket only afier it has been tesied by others; ' .

l

Ay

). .
An adjective to describe a developed market with relatively slow growth;

g
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-
) portal, or internet gateway.
,-b)l pIatformE 'to Suppozt online searching, online claim processing, and onling commenting,
as well as onling sales for some products, ’ '
T o) broviding sohytions that can be used immediately, and slso by providing data center
_ management services, | ‘ ' '
d) sites to entértain, inform and make fransactions easy.
©) applications are developed first by latge firms whose size enables them to achieve

greater cost savings and efficiency gaing,
a /5p

"

4

) 5. Explain briefly (in full sentences) the difference between Pstandard global offering” and
Kﬂ,{'} v "glocalized offexing™, ' : '

6. Use approprite forms of given words to make full sentences,

a)

b)

One given word is noi needed,

priges | advanﬁg,ge | pressure | edge | position | thr?{at
' /

He was criticized for being too Enrocentric and failing to pay sufficient attention to the
competitive ' ___from south-east Asia.

The trick is to find businesses that can sustain their performances over the long term. and

have some competitive _ — to keep them ahead of their rivals,

alternative retail outlets can offer organic food atmore

For the price-conscioys consumer,
!

competifive .
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o %9. Match the two parts of these senterices containing expressions related fo customey

satisfaction. Answer in the grid below.

'&LE E EEH

' /1 . The systematic analys1s of customer clalms consitutes and 1mp6rtant source of information, _
on customer
/2. Dreze has researched customer
3, The company's acquisition of itg rival led to customer

X Maintaining customer

5. You can sometimesd obtain customer

outside the business but rcdeem them inside,
b) safisfaction, or more Iikely, on cusfomer dissatisfaction.
c) delight by delivering more than you promige, R
d) defections, due to dech'nes in service quality.

95 allegiance results from continuing to provide excellent setvice,

customers from wanting to go elsswhere,

¢
rﬁmp ’ Y 10, Underline the correct alternative in the followin ['H

which dﬁssuades your

]

f5p

Due to the high number of companies in the car market, com: peﬁtton is [a, wild / %/ difficuli].

o Ford is a key player, while Morgan is a [b. mini / litfle / min __acﬂplayer If the government decided to
Limit this market in some way, this would [c. hann / sharpen / drop] competition. Sectors or marketfs
where there is only one comhpany are known as [d monopoles /monopolies / monopolize], If the

government decide 10 open up these markets, they Je. encourage / excite / grow up] competition.

\

5.
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c)’

d)
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Our organization reprer~ntx emnloyees and makes sure they get the best Dbossible working

conditions,

b -,

If T want to teave the company, I must inform them at least one month before I want to go.

When my wife had 2 baby Iast_ yeat; we were both allowed to take time off

—_— —

If ] Iose my job, the combany must pay me one month's salary,
The seasonal demand for our product means we have {o take on oxtra employees for just

two months before Chnstmas _ -
/5p

\ 14. Match the words to make terms. Answer in the grid below,

WE

2 a5 ¢ 7 5.9 o

a. actioh b, backgrffund c. stereolﬁping d. 'on/géfn e. dlscm?ﬁnatlon

£ st
1.
2,

aﬁs g mmont}gs;f ceﬂ;{qg1 agaf;{vt J. attitudes

goographic .
social o ‘} . :

génder__ | Ty
discriminate 2 k

family . ‘ i

positive . fnaheh

ethnic

gla-ss__ | f -

affirmative ____\ ]

sexist - '/ 10p
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of the Web to attract tens of millions of Participants overnight, Fven competitors are agreeing to 6)
on path-breaking science initiatives that accelerate discovery in their

- ey

indusiries, -
/6p

17. Read the text and decide if these statements are true or false (T/F). Answer in the grid

below,

Even if the business advantago of offshoring is too compelling to ignore, the CEO will also have to
deal with the human implications of offshoring decisions — namely the fear and anxiety created in
those directly affected and in thoge who remain. For those directly affected, the first question will .
be, "What will happen tome?' The CEQ has a responsibility to create some options for these people,
in terms of fraining, in terms of helping thom find other jobs and in terms of financial '
compensation. The survivors will bo watching closely how fairly their colleagues are treatod:
"Today it was them, but romorrow it could be us.' The survivors will be more interested in the . .

question: Now what?' -

Here, the CEO must explain the decision against tho wider perspective and explain how the
offshoring of non-core activities can help to boost the core activities and secure remaining jobs. For
example, the offshoring of mamufacturing froes capital for investment in now infrastructure or to
increase spending on R&D. This helps the company stay ahead of the comipetition.

1. The CEO has to deal only with the technical implications of offshoring decisions,
2. Employees affected by offshoring decisions think mainly about their own situation.

3. The text mentions four ateas where companios cah help employees whose jobs are
outsourced,

4. Those leftin an ozrg:anization after some of'its activities have been outsourced will be more
confident about the future,

5. The CEO should explain how outsourcing can help to make remaining jobs more secyre.

6. The text mentions three areas ‘lWhel'(;J spending can be increased following offshoring of

some activities. '

/ép
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4 High-risk bonds perform better when tho economy is booming, helping heavily

5) The company is massively ovet-

6) Many ﬁlms are to o'highly

a) leveraged, the slowdown was catastrophie — it's a bad time to be abuilderbut a good time to

buy a house.

n3

b) leverage in order fo survive..
c) geared, having borrowed to expand their businesses in the boom and now, with incomes

falling, interest paymonts that are difficulf o make,

. d) leveraged and owes much more fo lenders than its operations will ever bring in,

e) leveraged small companies to make scheduled payments of interest and pnn01pa1
) indebted companies that then have trouble meeting interest payments.

{6p
20. Complete the article with the expressions given, Use one expression twice.

audits | frand | overstated | understated | cooked the books | irregularities lregula{tors

. Regulatory authorities in India have, ordered an inquiry into PriceWaterhouseCo opers' auditing of

Satyam, the company at the heart of the countiy's biggest ever alleged fraud, whlch commentators
are calling India's Enron, . o
Shareholders have lost more than $2 billion since Satyam's chairman Ramalinga Raju

resigned on Wednesday after i 1ssu1ng a statement admitting he had
1) the company's cash reserves and
its liabilities. Many of the losers are said to have been reassured

2)
their investments were safe bj_ PWC's presence.

Mr Raju's detailed confession of how he says he 3)
raised serious quostions over how $1 billion in non-existent cash reserves could have been
overlooked on PWC's watch as auditors. In a statement, Mr Raju sa1d it was with "deep repret ...
and a treméndous burden. that I'am carrying on my conscience, that I would like to bring the’
following facis to your notice: The balance sheet carties inflated (non-existent) cash and bank
balances of Rs50.4 billion" (nearly £1 billion). He also detailed $78.3 ﬁllion of "non- existent"

hasnow
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22, Complete the sentences with expressions given related to coxrpoxate and social
responsibility. One expression is not needed. ’
transparent | integrify | professional misconduct | probity | accountdble | board

1. His lawyers have argued that the transaotions were completely above
and approved by the other directors.

2. The code of prﬁl‘essmnal conduct requires du-ectors to act with,
> and fo accept that failure to comply carries the threat of

4
H

fines,

3. It faces the most serions charges of
accountancy firm, with claims that i+ deliberately concealed evidence of fraud,

about the methods that we use, so it would be

yet bronght against a big

4. We ate totally
hard for us to hide the fuct if we wore not giving the correct numbers fa onr findings.

than they are

5. The city's ofﬁcmls ought to be held far more
today for what they spend and how,

/5p

23. Fill in each gap by writing tie correct form of the word given in parentheses,
a) We want people to know this is our product as soon as they sce it — we wang sirong bra,nd
. (tecognize)

b) This new campaign aims to raise people's
c) Wo don't want this product to look similar to the others on the market — there has to be clear

brand - (differ)
d) The

currently on the market, (position)
¢) In the future we will extend the brand, but not fo the extent of brand

(dilute) -

or our brand. (aware)

map shows how our product fits in with the other brands

/Sp
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27. Undexline the correct alternative in the following:
opened last year for the production of silicon

Our new (a. fab pla&’glﬁluq_glgig plant/ fab factory)
only produce for them af the moment, so we're

chips. We are located close'io our customer and we
known gs a (b. close plant / ; supplier plant / captive plant). We're in a (c. cluster / segment / s_ecto’r) —
a group‘ of other computer compon:ﬁt suppliers in our area. When the fd. manufactuting /

. production / works) fitst opened, we were working (e. under / Eé_]_ogr/ down) capacity. However,

we quickly (f. build up / @gd_up / rose) production fo mest the (g. ggm_@g_di / challenges / wants)
of our customer-and now we're operating at (h. fotal / complete / full) capacity. Fortunately, the |
@. stump / sagging / sprawl) in some areas of manufachl;*jng hag not affected us, but there are many
factories elsewhere which are (. lazy / idle / unused) — they are no Ionger working atall,

/10p

28. Match these sentences with expressions given below. Answer in the giid below.

Bl T2l T 4] I5] Te] ]

a) fiee movement of capital b) trade liberalization, fiee trade c) protectionism d)

telecommunication cogis e) interdependence D) shipping costs

1. The charge for fransporting a whole container of £oods across the Pacific can be as litle as

$50.
2. The cost of a three-minute phono call from London to New York in 1930 was £200 in
tgday*s 1oney. The same call costs much less than £1 today.

3. There are no taxes on goods iraded within the European Union,
4. We can invest in many Asian countries and bring back our profits without penalty.
5. We should impose sﬁecial-taxes on foreign-made steel.

The US imports more than it cxpotis, much of it from China, and China buys American

debt,
/6p
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